> A
A & 0l & AF 2 E A A
20209 = =0la LB nsFE M
2A NEZ Y
M sws N
Sl 24N ol ¥ X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
=Ry 12,532,767 17,143,004 24,610,237
= 69,720
s 827,000
J| 16,100
< 337,953
s 11,281,994
sns XN 8,683,711 8,027,191 656,520
= 7,800
s 350,000
J| 14,800
< 314,540
s 7,996,571
2Hd 22 € X#A 8,495,181 7,723,901 771,280
= 7,800
s 350,000
J| 14,800
< 312,540
s 7,810,041
HALd 2AEAZ N 1,058, 141 1,058, 141 0
307 21201 A 1,058, 141 1,058, 141 0
09 2HAHAEXS 1,058, 141 1,058, 141 0
o HIlbd MBS 1,058,141,000& 1,058, 141
2x8Hd RItEx3 A& 4,560,000 4,560,000 0
307 gl2tol & 4,560,000 4,560,000 0
09 2HAHAEXS 4,560,000 4,560,000 0
o 29HMd |IMHEXZ  380,000,000& * 122 4,560,000
HAETSAH2+HH HEXA 1,710,640 1,396,760 313,880
< 297,540
i 1,413,100
307 glz2tol & 1,690,840 1,311,760 379,080
= 297,540
i 1,393,300
09 2+HAHEEXS 1,690,840 1,311,760 379,080
o BAYSNE BSE RN
,750,000& = 43| 31,000
o HADtESE X
10,000& = 98CH = 12E 11,760
o SEHA 2E5EM HEXR
412,020,000 = 43| 1,648,080
< 297,540
e 1,350,540
402 BIZHAHE 0| A 19,800 85,000 A 65,200
01 U2 E2ALE X (KA R) 19,800 85,000 A 65,200
o EHAl JIAF THOIA (AFRA) JbI
10,000,000& = 1JH A 10,000
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2A NEZ Y
M sws N
Sl 24N ol ¥ X CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
o Al DI Z2ZAH HSsHEEI NJ
100,000& * 98CH 9,800
EHAl 2 XHE &AL 96,700 308,700 A 212,000
= 7,800
[ia 88,900
201 £B-2%H| 700 700 0
01 At 22l 700 700 0
o HARTIAS BAaY
70,000& * 59 = 23| 700
307 gl2tol & 96,000 288,000 192,000
= 7,800
s 88,200
09 2HAHAEXS 96,000 288,000 A 192,000
o BAIZX EAAY 48,000,000& * 2CH 96,000
= 7,800
i 88,200
WsSAL OlsHe SN 29 172,700 114,700 58,000
| 14,800
s 157,900
201 LBt2E| 700 700 0
01 At 22l 700 700 0
o DEUNOSHAZHRS HAsg
70,000 * 5% =« 23| 700
307 glz2tol & 172,000 114,000 58,000
| 14,800
i 157,200
05 RIZHRI &3 172,000 114,000 58,000
o NSAXN0ISHY A XY 29
43,000,000& = 4= 0| 172,000
| 14,800
s 157,200
SEE LS IAL (10028 SHASY) 297,000 202,000 95,000
s 50,000
= 15,000
= 232,000
201 LB-2dH| 2,000 2,000 0
01 At 2t 2l 2,000 2,000 0
o HMEEAI(100&) Ol M=
2,000,000& = 13l 2,000
307 glz2tol & 250,000 200,000 50,000
s 50,000
< 15,000
s 185,000
09 2HAHEXS 250,000 200,000 50,000
o BMEEAI(1008) 2 XA 250,000, 000& 250,000
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SN RERHY
M sws N
Sl 24N ol ¥ X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
e 50,000
< 15,000
= 185,000
308 XX EHSOIA 45,000 0 45,000
08 WEII20HetE X 45,000 0 45,000
o HFEA(RsHE) 28 XI&  45,000,000& 45,000
SEE NSIEML(HAE) 600,000 0 600,000
s 300,000
e 300,000
307 21201 A 600,000 0 600,000
s 300,000
s 300,000
09 2+=HAHEEXS 600,000 0 600,000
o SEE NEIML(HAE) 2¢
150,000,000& = 42 2| 600,000
s 300,000
[ia 300,000
thaswns 2435t 127,510 238,100 A 110,590
< 2,000
e 125,510
SZE EAE ZH ALY 24,000 20,000 4,000
401 Al HIZ 201 Y] 24,000 20,000 4,000
01 A& HI 24,000 20,000 4,000
o sEWHA EXE HHl  550,000& * 4004 & 22,000
o gA SYF EXNE Hu|
500,000& * 4042 2,000
sns 99,510 218,100 A 118,590
201 Let2d] 62,010 130,600 A 68,590
01 At 22l 62,010 130,600 268,590
o BHR BB YAYY
150,000&  98CH = 30% 4,410
o Fdz 22 HAZME  40,000,000& * 14 40,000
o sns #F g8 =& 6,000,000& 6,000
o KX 22 =& 5,000,000& 5,000
o HEWNs YRFL S|
8,000& = 53 = 165¢ 6,600
202 (44l 9,500 9,500 0
01 S LHOIYI 9,500 9,500 0
o Hzws YRFE 20,0008 * 5 * 95 9,500
203 R =&t 3,000 3,000 0
03 AIMZ=XH R =AH| 3,000 3,000 0
oKX % NSHH AL =&
750,000& = 4=2D| 3,000
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SA: REFHY
M sws N
S Hsns #4dst (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
207 & O] 25,000 75,000 A50,000
01 284 25,000 75,000 A 50,000
o SEHA 28 MEHEIAN APSY
25,000,000& = 13l 25,000
DEX 2HHGS AaEtg QIdEE X& ALY 4,000 0 4,000
< 2,000
[ia 2,000
301 LeBAF 4,000 0 4,000
< 2,000
s 2,000
12 JIEBHE4 = 4,000 0 4,000
o DY AU S XAty elMEE X
At 100,000& * 40 4,000
< 2,000
s 2,000
s s52a 61,020 65,190 24,170
AAsxsess g2 21,500 22,500 A 1,000
201 Let24d]| 12,000 13,000 A 1,000
01 At 22l 6,600 7,600 21,000
o ISXIHsSEE 428 7
20,000& * 10& = 53l 1,000
o NsksE gRFE =
8,000 = 5% = 1402 5,600
02 2324l 5,400 5,400 0
o 288 EXAAE X2l
450,000& = 128 5,400
202 O4dl 9,500 9,500 0
01 SLHOYI 9,500 9,500 0
o IHSAUHsSELR =
20,000& = 5% = 95¢ 9,500
AAsi2dE BHsE U= 39,520 42,690 A 3,170
201 L2l 39,520 42,690 A 3,170
01 At 22l 18,280 21,450 A 3,170
o NSX SEE(VCEUM, S=2HLS)
70,0003 » 60 A 4,200
o Asx ¥ HUASHWEHST DKM H &
70,000 * 202t A * 3F 4,200
o NsA A2 Siots®
3,000 = 1,500 4,500
o A4HIIHAXSAMEAS X € 28N ¢
1,730& = 1,0000H 1,730
o MEES 7Y 10,000& * 208 * 63l 1,200
o XHSE Zed 22l 2,450,000 2,450
02 =224l 21,240 21,240 0
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SA: REFHY
M sws N
ool Nsx s=2a CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o NsXEAM AUHSH SERS
270 = 20,0000H 5,400
o NS HEHE DM 2BR3
330& = 4,00001 = 123 15,840
nEesk 38 972,000 5,518,000 A 4,546,000
s 477,000
s 495,000
FXetd o 954,000 5,500,000 A 4,546,000
s 477,000
s 477,000
FAHSZMLX ML (FZ2O0HIE 212) 954,000 0 954,000
s 477,000
s 477,000
401 AIEHI L 2CHEI 954,000 0 954,000
s 477,000
s 477,000
01 A& HI 950,570 0 950,570
o FEO0ILE o2 SIFTUHE ZEMY
950,570,000& * 14 950,570
s 475,285
s 475,285
03 Al 2 THHI 3,430 0 3,430
o =ZO0IME 2 SEFXE Zd MY 20
H1(0.36%) 3,430,000& = 14 3,430
s 1,715
s 1,715
nS=X 18,000 18,000 0
s XN& 18,000 18,000 0
307 21201 A 8,000 8,000 0
02 ItFAAHEEX 8,000 8,000 0
o WsSXE #HQ &5 X 6,000,000 6,000
o DY 0RO DERN HE X
2,000,000& 2,000
401 Al HI R 201 I 10,000 10,000 0
01 A& HI 10,000 10,000 0
o AAFXE =4 5,000,000& 202 10,000
Ofl A XI & AH2OH e 2,816,705 3,185,640 A 368,935
= 61,920
J| 1,300
= 23,413
e 2,730,072
wsSotd AMSI AX & 2el 153,800 153,800 0
A3 EX L WA 153,800 153,800 0
201 24l 34,800 34,800 0
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SN DEFMY
<R RV IEPVEIDEDT!
CHolr DEQHE AISD

= _ — d =
SA - BB B () - MM - BES Ol &t o e
02 =224l 34,800 34,800
o DEUSS % F2S HIILS
2,900,000& = 12& 34,800
206 M= Hl 20,000 20,000
01 =8l 20,000 20,000
o WEdss 28 M 2 20,000
- WESASHOII 5,000,000& * 204 10,000
- ZE2MAHII 500,000& * 10042 5,000
- WSS S(LED) 500,000& 1000 & 5,000
401 AIEHI L 2CHEI 99,000 99,000
01 A& tl 99,000 99,000
o WSS S MEg2 RXE+
3,000,000& = 1000 2 30,000
o NsSdss & LS UHSA
10,000,000& * 370 £ 30,000
o NSNS S A= RHMSA
8,000,000& * 204 16,000
o Z&S LWHSAM 2,000,000& * 400 2 8,000
o WEANE=E 258 ExSAM
300,000& » 500 2 15,000
s=480l s 22| 997,240 997,240
I2suAd & sA2c 997,240 997,240
201 £B-2%H| 433,440 433,440
01 At 22l 3,600 3,600
o Jlgs 4ABE F¢
30,000& = 10& = 123l 3,600
02 =224l 429,840 429,840
o J2S MIIe3 427,440
- 2 S(SSH) 5,0008 * 2,0008 * 12€ 120,000
- BOrS(ZUAH) 4,400&8 * 5,8005 * 12€ 306,240
- JI2S wuE SHARR
5,000& * 2002 = 128 1,200
o Jlgs &l T RAES
200,000& = 12& 2,400
206 M= Hl 146,000 146,000
01 =8l 146,000 146,000
o Ji2s E+8 UM 126,000
- gz 50,000& = 508 ~ 12& 30,000
- O+E DI 50,000& * 508 = 12& 30,000
- X0 E OJIE 20,000& = 508 ~ 123 12,000
- LED BotsS 300,000& = 158 = 12& 54,000
o MXIA NsEEDI 50,000& = 4004 20,000

- 420 -




2N

X{ XH -
S =

DEIHD

Ol L XI & XH& o0 &

e 2280 JI2s 22 (2 &HH)
- _ _ RE]

SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
401 AlEHIZL 2 0HY| 417,800 417,800 0
01 Al&H| 416,000 416,000 0

o LED JI2E &X ¥ uH
1,000,000& * 200 200,000
o 228 KAl SOPH
74,0008 * 2,500 185,000
o JI2E dMI|otAd HAH &L HH|
100,000 = 10004 & 10,000
o JI2gg E& MH 10,000& * 2,1007H 21,000
03 AlE 20| 1,800 1,800 0
o JIZ2E RAES 2 0old, WH, X &el(
0.72%) 1,800,000 1,800
o xolg & 1,665,665 2,034,600 A\ 368,935
= 61,920
J| 1,300
= 23,413
= 1,579,032
ATHMUUREZ FeX e 71,965 46,000 25,965
& 18,913
= 53,052
201 LBt 3,880 4,960 A 1,080
01 AP 22| d| 3,880 4,960 A 1,080
o HUXKIES EE= M &
1,000& *= 5= = 2000H 1,000
o UK EFRFE Z S|
8,0008 » 3% * 120 2,880
202 o4 | 5,040 5,040 0
01 2L Hl 5,040 5,040 0
o HUXgR =& 20,000 = 3¥H » 84¢ 5,040
402 SI2vXHE0| & 63,045 36,000 27,045
& 18,913
= 44 132
02 QX E A E X (0| XM THSH) 63,045 36,000 27,045
o AMIMUHUHKEZ =X AFY
1,401,000 = 45J13 63,045
o= 18,913
= 44 132

TAIIIA BSALY 1,500,000 1,500,000 0
402 SI2t 20| & 1,500,000 1,500,000 0
01 It E AL EXR (M) 1,500,000 1,500,000 0

o TAIJIA 23 1,500,000,000& = 14! 1,500,000
gMA FHIE JIS2XN ALY 1,300 1,300 0
J| 1,300
301 et M= 1,300 0 1,300
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2N

X{ XH -
S =

DEIHD

Ol L XI & XH& o0 &

el i X0 & (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jl 1,300
12 JE24 =3 1,300 0 1,300
o g8 I=H? dHAS HE 2
1,300,000& * 13 1,300
J| 1,300
MQIE JIACHEAEXI(EIOIHR) ESAY 15,000 15,000 0
< 4,500
s 10,500
403 UHXISHHSA=0l& 15,000 15,000 0
< 4,500
s 10,500
02 S 2S00 CHEAHE R 2 E AL H 15,000 15,000 0
o MBS JIIAHMEX (EIOIHE) 2ESAL
50,000& * 3000t 15,000
< 4,500
s 10,500
MBS JtAANE WA 77,400 72,300 5,100
= 61,920
s 15,480
403 X SHHSA=0l& 77,400 72,300 5,100
= 61,920
[ia 15,480
02 S 2S00 HEt A = H 2 & AH 77,400 72,300 5,100
o MOS JtAAAE W& AL
258,000& * 3007t+ 77,400
= 61,920
s 15,480
HE2HAZH (RS ) 60,351 57,173 3,178
ol 2d | 35,941 35,223 718
ol 2l 35,941 35,223 718
101 @124l 35,941 35,223 718
01 2=+ 35,941 35,223 718
o A2AS2R4g
10,509 = 15% * 19AI2+ « 128 35,941
JlE3l 24,410 21,950 2,460
Jl2&l 24,410 21,950 2,460
201 Let24E] 20,210 17,750 2,460
01 At 22l 20,210 17,750 2,460
o MEES 7Y 10,000& * 208 » 123] 2,400
o EMEX P 25,000 = 174 « 128 5,100
o HHSE MH 300& = 50001 = 123 1,800
o =N ARE 7Y L 42
1,500,000 * 2CH 3,000
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